Give a synopsis of didwut, TiOnut, Totnut:

didwut

dwow

Edwka

dédwka

dédopat

£060nv

Present Indicative

Active

Middle/Passive

1% person

2™ person

3 person

Imperfect Indicative

Active

Middle/Passive

1* person

2™ person

3 person




TiOnw

Onow

£€0nka

TEONKa

TéOe1an

ETEONV

Present Indicative

Active

Middle/Passive

1% person

2™ person

3 person

Imperfect Indicative

Active

Middle/Passive

1* person

2™ person

3 person




fotnut oTHoW gotnoa (trans.) | £otnka (intrans.) | €otapat €0TaonV
£otnv (intrans.)
Present Indicative
Active Middle/Passive
1* person
2™ person
3 person
Imperfect Indicative
Active Middle/Passive
1% person
2" person

3 person







